BID EVALUATION REPORT

01.	Name of Procuring Agency: <u>UNDERGROUND</u>	COAL GASIFICA	ATION PROJECT, THARPARKAR.
02.	Tender Reference No: UCG/94-09	-14	
03.	Tender Description/Name of Work/Item: Te	ender for Supply	& Fabrication of Engine Rooms.
04	.Method of Procurement: Open Tender ab	ove Rupees One	Million
05.	. Tender Published: <u>SPPRA Web Site Sr. 21346 E</u>	Daily Dawn, Ausaf	& Sindh Post, Dated: 10.09.2014.
06.	Print & Electronic Media (SPPRA ID No &New Total Bid documents Sold:		
07.	Total Bid documents Received:	03 (Three)	
08.	Technical Bid Opening date:(if applicable)	26.09.2014	(Provide detail in separate form)
09.	No of Bid technically qualified (if applicable))	03 (Three)
10.	Bid (s) Rejected:	Nil	
11.	Financial Bid Opening Date:	27.09.2014	

12. Bid Evaluation Report:

12.	Bid Evaluation Re	port.				
s. No	Name of Firm or Bidder	Cost Offered by the Bidder In Pak Rs.	Ranking in terms of Cost	Comparison with estimated cost	Reasons for acceptance/ rejection	Remarks
01.	M/s Ashraf Fabrication & Engineering Pvt. Ltd Lahore.	24,609,556.96/-	1 st Lowest	Nearest to the estimated cost	Accepted as a 1 st Lowest in all items excluding Sr.15,16,17,27	P.O may be approved/issued after hoisting on SPPRA website having total Cost Rs. 24,609,556.96/- in favor of M/s Ashraf Fabrication & Engineering Ind. Lahore
02.	M/s Metal Paint Products Pvt. Ltd., Islamabad.	530,000/-	1 st Lowest	Nearest to the estimated Cost	Accepted as a 1 st Lowest In items Sr.15,16,17	P.O may be approved/issued after hoisting on SPPRA website having total Cost Rs. 530,000/- in favor of M/s MPPL Isb.
03.	M/s Vogue Engineering Services Pvt. Ltd., Islamabad.	35,809,456.41/-	3 rd Lowest	Above to the estimated Cost	Accepted as a 3 rd Lowest	-

Survey

mine 7.

newlocky

guillo

Signature of Committee:

(Aijaz Ali Shaikh)
Procurement Officer
UCG ProjectThar

Ali Akba Luneis District Accounts Officer Mithi,

(Ghulam Mustafa Bajeer)

Rep. of Incharge Site

Sindh Coal Authority

Mithi.

(Ghulam Dastageer) Senior Engineer (Civil) UCG Project Thar (Abdul Hamid)
Chief Engineer (Purification)
UCG Project Thar.
President

COMPARATIVE STATEMENT

1 I/T No.

UCG/94-09-14

Time and Date of Technical Opening at 1130 Hours on 26-09-2014
Time and Date of Financial Opening at 1130 Hours on 27-09-2014

	Time and Date of Financial Opening at 1130 Hours of	Unit	Oty		aint Products ed Islamabad		Fabrication & Industries Lahore		Engineering Islamabad
Sr.	Description	Unit	Qty	Rate	Amount (Rs.)	Rate	Amount (Rs.)	Rate	Amount (Rs.)
	Fabrication and Supply of Rockwool Panels for wall (Size of Panel: 1M (W) x 5.5 M (L)							2	
	Complete in all respect as per drawings and specification and as approved by the Engineer In charge including following details:								
	i) Rockwool blanket backed with G.I wire mesh. Roll Size 1 M x5 M, Density 60 Kg/m3, Thk: 50 mm.								
1	ii) Colour Coated G.I sheet on inner 0.5mm thk and outer side 1mm thk and 500 mm overlapping on both side for joining, (Colour off white)		1,356	6 3,500.00	4,746,000.00	2,610.00	3,539,160.00	3,539,160.00 3,072.42	4,166,201.52
	iii) Structure support channel fabricated with G.I sheet. (between two sheet and riveted with each other, Size (25x50x25x1thk)mm								
	iv) Insulation pin dia 2mm at the pitch of 5 pin/m2 welded over G.I strip and then riveting on G.I sheet thk 1mm, Length of pin 75mm, Material G.I								
	Fabrication and Supply of Rockwool Panels for Roof (Size of Panel: 1M (W) x 5.5 M (L)								
	Complete in all respect as per drawings and specification and as approved by the Engineer In charge including following details:								
	i) Rockwool blanket backed with G.I wire mesh. Rol Size 1 M x5 M, Density 60 Kg/m3, Thk: 50 mm.								



Sr.	Description	Unit	Qty	M/s Metal Paint Products (Pvt.) Limited Islamabad			abrication & dustries Lahore	M/s Vogue Engineering Services Islamabad	
				Rate	Amount (Rs.)	Rate	Amount (Rs.)	Rate	Amount (Rs.)
2	ii) Colour Coated G.I sheet on inner 0.5mm thk and outer side 1mm thk and 500 mm overlapping on both side for joining, (Colour off white)	Sq.	1,783	3,500.00	6,240,500.00	2,610.00	4,653,630.00	3,022.11	5,388,422.13
	iii) Structure support channel fabricated with G.I sheet. (between two sheet and riveted with each other, Size (25x50x25x1thk)mm							¥0	
	iv) Insulation pin dia 2mm at the pitch of 5 pin/m2 welded over G.I strip and then riveting on G.I sheet thk 1mm, Length of pin 75mm, Material G.I								
	Fabrication and Supply of M.S Steel (Chinese Grade Q 345B or ASTM A36 or equivalent) truss								
3	(Rafter+Column+Accessories) with approved paint (Red Oxide + Paint) and connections, nut and bolts complete set as per detail drawings and specification provided with tender complete in all respect and as approved by the Engineer Incharege.	Ton	30	200,000.00	6,000,000.00	165,848.00	4,975,440.00	237,276.00	7,118,280.00
	Fabrication and Supply of M.S Steel (Chinese Grade Q 235B or ASTM 36 or equivalent) Purlin, Support and connections, nut and bolts along with following accessories;								
	i) LT1-Purlin (C180x70x20x3) mm, equipped at the lifting point on roof as per drawing. ii) XG1-Tie Bar Ø 133 mmx3.5 thk iii) ZC1 Round Steel Ø 22 mm					470 400 00	2 (71 005 00	227.274	
4	iv) SC1 Round Steel Ø 20 mm v) WLT. WXL: Ø 10 mm Round Steel vi) WCG: Ø 10 mm round steel+ Ø30x2.5 Steel Sleeve;	Ton	15	200,000.00	3,000,000.00	178,133.00	2,671,995.00	237,276.00	3,559,140.00
	vii) WYC- L (50x50x4)mm with approved paint (Red Oxide + Paint) as per detail drawings and specification provided with tender complete in all respect and as approved by the Engineer Incharege.		\$	Sound .	~ Land	James M.	1	7.75	

Sr.	Description	Unit	Qty		aint Products ed Islamabad		f Fabrication & Industries Lahore		Engineering Islamabad
	•		1.5	Rate	Amount (Rs.)	Rate	Amount (Rs.)	Rate	Amount (Rs.)
	Supply and Fabrication of M.S Steel (Chinese Grade Q235B or ASTM 36 or equivalent) Wall Beam and Support along with connections, nut ans bolts and following accessories; i) QL1- Wall Beam (C180x70x20x2.5)mm ii) CZ1- Window Col. (C180x70x20x2.5)mm	Ton						,	
	iii) MZ1-ML: Gate Post, Door frame 2C(180x70x20x2.5)mm		10	200 000 00		145 949 00	1 (50 100 00		
5	iv) QLT1: Brace Ø 10 mm Round Steel. v) QCG1: Brace rod Ø 10 mm Round Steel+32*2.5 round tube.		10	200,000.00	2,000,000.00	165,848.00	1,658,480.00	237,276.00	2,372,760.00
	vi) QXL1: Batter Brace Ø 10 mm round steel vii) QYC1: Angle Bracing L(50x50x4)mm								
	with approved paint (Red Oxide + Paint) as per detail drawings and specification provided with tender complete in all respect and as approved by the Engineer Incharege.								
6	Supply and Fabrication of M.S Steel (Chinese Grade Q345B or ASTM 36 or equivalent) H- beam Column along with connections, nut and bolts and other accessories (KFZH300x200x6x8)mm with approved paint (Red Oxide + Paint) as per detail drawings and specification provided with tender complete in all respect and as approved by the Engineer Incharege.	Ton	3	200,000.00	600,000.00	147,420.00	442,260.00	237,276.00	711,828.00
7	Supply and Fabrication of M.S Sheet (8'x4') 10 mm thk, 235 kg/sheet, Chinese Grade Q235B or equivalent for foundations	Ton	1	200,000.00	200,000.00	140,713.56	140,713.56	140,713.56	140,713.56
8	Supply and Fabrication of M.S Sheet (8'x4') 16 mm thk, 390 kg/sheet, Chinese Grade Q235B or ASTM 36 or equivalent for foundations	Ton	4	200,000.00	800,000.00	143,243.10	572,972.40	143,243.10	572,972.40
9	Anchor Bolts M24x300mm with three nuts and washer for foundations as per drawings	Set	300	400.00	120,000.00	184.00	55,200.00	409.50	122,850.00

Sung his. Franksolus



Sr.	Description	Unit	Qty		Paint Products ed Islamabad		f Fabrication & Industries Lahore	M/s Vogue Engineering Services Islamabad	
	,		~ ,	Rate	Amount (Rs.)	Rate	Amount (Rs.)	Rate	Amount (Rs.)
10	Anchor Bolts M24x950 mm with three nuts and washer for foundations as per drawings and specifications	Set	200	1,500.00	300,000.00	418.00	83,600.00	1,170.00	234,000.00
11	Expansion Bolts (Rawl Bolt) M16x100 mm for foundations as per drawings and specifications	No	200	30.00	6,000.00	30.00	6,000.00	35.10	7,020.00
12	Deformed Steel bar G60 (16x500) mm for foundations as per drawings and specifications	Ton	1	200,000.00	200,000.00	115,900.00	115,900.00	152,100.00	152,100.00
13	Deformed Steel bar G60 (16x300) mm for foundations as per drawings and specifications	Ton	1	200,000.00	200,000.00	115,900.00	115,900.00	152,100.00	152,100.00
14	Supply and Fabrication of M.S Channel (100x50x6)mm 1600 mm (L), 10.5 kg/m for foundations and for Roof Monitor as per drawings and specifications	Ton	4	200,000.00	800,000.00	146,400.00	585,600.00	237,276.00	949,104.00
15	UP Windows as per drawings with 2 Sash double glazed glass (3x2)m	No	20	14,000.00	280,000.00	18,300.00	366,000.00	61,182.81	1,223,656.20
16	UP Ventilators as per drawings with 2 Sash (3x1)m	No	20	9,000.00	180,000.00	54,900.00	1,098,000.00	30,590.82	611,816.40
17	M.S Corrugated Sheet (100mmx 3mm) Double Sliding Gate (4x5)m with 2xRoling pad complete set top and bottom along with wicket gate (3'x7')	No	2	35,000.00	70,000.00	67,100.00	134,200.00	231,660.00	463,320.00
18	Supply and Fabrication of Sky light (5mx1.5m)	Sq. m	150	6,000.00	900,000.00	183.00	27,450.00	2,585.70	387,855.00
19	Supply and Fabrication of Gravity Ridge Roof Ventilator	m	55	5,500.00	302,500.00	1,830.00	100,650.00	31,590.00	1,737,450.00
20	Gutter	m	170	1,700.00	289,000.00	1,220.00	207,400.00	2,340.00	397,800.00
21	Supply and Fabrication of Louver 1.5 m highx40m length both side made up with M.S sheet of 3mm Thick.	Sq. m	126	7,000.00	882,000.00	2,440.00	307,440.00	4,750.20	598,525.20
22	Self tapping screw for Roof and Walls panels	No	6,000	15.00	90,000.00	15.00	90,000.00	19.89	119,340.00
23	Silicon transparent	No	1,300	215.00	279,500.00	215.00	279,500.00	238.68	310,284.00
24	Silicon White	No	450	215.00	96,750.00	215.00	96,750.00	238.68	107,406.00
25	Pop, Rivets	Pkt	900	. 1,170.00	1,053,000.00	1,025.00	922,500.00	1,170.00	1,053,000.00
26	Supply of Tiling 6-10 mm ceramic tiles non glazed gray in colour	Sq.m	1,456/	1,100.00	1,601,600.00	936.00	1,362,816.00	936.00	1,362,816.00



mind the Enullablish

Sr.	Description	Unit	Qty	M/s Metal Paint Products (Pvt.) Limited Islamabad		M/s Ashraf Fabrication & Engineering Industries Lahore			Engineering Islamabad	
				Rate	Amount (Rs.)	Rate	Amount (Rs.)	Rate	Amount (Rs.)	
27	Installation of Building including Rockwool panels for roof, roof monitor and walls. Installation of Rafter, Columns and all other items mentioned in drawing and specification complete all in respect and as approved by the Engineer Incharge		1,456	1,950.00	2,839,200.00	Not Quoted		1,228.50	1,788,696.00	
	Total Price				34,076,050.00		24,609,556.96		35,809,456.41	
	GST (17%)			Included		Included			Included	
	Grand Total (Rs.)			34,076,050.00		24,609,556.96		35,809,456.41		

REMARKS: i) M/s Ashraf Fabrication & Engineering Industries Lahore is the lowest bidder in all items except Sr.No 15,16,17 & 27 & has offered 3% rebate without GST.

ii) M/s Metal Paint Products (Pvt.) Ltd Islamabad is the lowest bidder in items at Sr.No 15,16 & 17

Procurement Officer

UCG Project Thar

Mr.Ghulam Mustafa Bajeer Assistant Director

Sindh Coal Authority Rep of Incharge Site SCA Mithi District Accounts Officer Mithi Rep of Secretary Finance Govt of Sindh

Mr. Ghulam Dastageer Senior Engineer (Civil) UCG Project Thar Mr. Abdul Hamid
Chief Engineer (Purification)
UCG Project Thar



UNDERGROUND COAL GASIFICATION PROJECT THAR ENERGY DEPARTMENT, GOVERNMENT OF SINDH

Bhambneo Bheel, Islamkot, Tharparkar



TECHNICAL EVALUATION REPORT

TENDER # UCG/94-09-2014 Supply and Fabrication of Engine Rooms.

The Underground Coal Gasification Thar Project, Energy Department, Government of Sindh invited sealed tender from reputed suppliers / firms registered with income tax / sales tax department for "Supply and Fabrication of Engine Rooms" through tender notice published in the daily newspapers "Dawn, Ausaf,& Sindh Post" of 10th September, 2014 as well as on SPPRA Website vide Sr. # 21346, dated: 10th September, 2014.

- 2. The tender documents were purchased by Three suppliers / firms as per detail given below:
 - a) M/s Vogue Engineering Services Pvt. Limited Islamabad.
 - b) M/s Metal Paint Products Ltd(MPPL), Islamabad.
 - c) M/s Ashraf Fabrication & Engineering Industries Pvt. Ltd., Lahore.
- 3. Out of the above mentioned suppliers / firms only **Three** suppliers / firms have submitted their tender documents / bids as per following:
 - a) M/s Vogue Engineering Services Pvt. Limited Islamabad.
 - b) M/s Metal Paint Products Ltd(MPPL), Islamabad
 - c) M/s Ashraf Fabrication & Engineering Industries Pvt. Ltd., Lahore
- 4. Technical offers opened on 26th September, 2014 at 1130 Hrs and technical Evaluation of the Bids submitted by the firms is carried out in the light of Specifications and Conditions laid down in the Tender Documents. The Evaluation Report is given as under:

a) M/s Vogue Engineering Services Pvt. Limited Islamabad.

M/s Vogue Engineering Services Pvt. Limited Islamabad has submitted technical proposal the detail specifications are completely matched with tender documents of supply and Fabrication of Engine Rooms. Therefore Financial Bid May Be Opened.

main

26/9/14/

Shew De Shew

Page 1/2

b) M/s Metal Paint Products Ltd (MPPL), Islamabad.

M/s Metal Paint Products Ltd (MPPL), Islamabad is submitted technical proposal requirement and Specifications are as per Tender Documents. Therefore Financial Bid May Be Opened.

c) M/s Ashraf Fabrication & Engineering Industries Pvt. Ltd., Lahore.

M/s Ashraf Fabrication & Engineering Industries Pvt. Ltd., Lahore has submitted technical proposal the detail specifications are completely matching with tender documents. Therefore Financial Bid May Be Opened.

(Aijaz Ali Shaikh)

Procurement Officer

UCG Project Thar

Representative of Secretary Finance

District Account Officer,

Mithi

__(Ghulam Mustafa Bajeer)

Representative of Incharge Site Sindh Coal Authority, Mithi

(Ghulam Dastageer)
Senior Engineer (Civil)

UCG Project Thar

(Abdul Hamid)

Chief Engineer (Purification)

UCG Project Thar